7.2 Using P-Values

•Remember, when you perform a hypothesis test, you assume that the null hypothesis, 
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, is true.  A P-value (or probability value) of a hypothesis test us the probability of obtaining a sample statistic with a value as extreme or more extreme than the one determined from the sample data.

•To use a P-value to make a conclusion in a hypothesis test, compare the P-value to 
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Example 1 (our pizza delivery problem revisited, using a P-value this time):  In an advertisement, a pizza shop claims that its mean delivery time is less than 30 minutes.  A random sample of 36 delivery times has a sample mean of 32 minutes and a standard deviation of 3.4 minutes.  Is there enough evidence to reject the claim at 
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2.  Find the test statistic.
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Find the P-value

Chart ( .9997

Since this is a left tailed test, the chart gives us the P-value
So, P = 0.9997

3.  0.9997 > 0.01
      Do not Reject 
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      Reject the claim.
Example 2:  A tourist agency claims that the mean daily cost of meals and lodging for a family of four traveling in Florida is $252.  You work for a consumer protection advocate and want to test this claim.  In a random sample of 50 families of four traveling in Florida, the mean daily cost of meals and lodging is $260 with a standard deviation of $25.  Use a P-value to decide whether or not to reject the agency’s claim.  Use 
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2.  Test statistic
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P-Value
Chart ( .9881

The area in the right tail is 1 – 0.9881 = 0.0119

Since it’s a two-tailed test: P = 2(.0119) = .0238

3.  .0238 < .05, so reject 
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     Reject the claim.
_1316596066.unknown

_1316596340.unknown

_1316596418.unknown

_1316596658.unknown

_1316597062.unknown

_1316596456.unknown

_1316596359.unknown

_1316596288.unknown

_1316596320.unknown

_1316596238.unknown

_1316595938.unknown

_1316596001.unknown

_1316596047.unknown

_1316595976.unknown

_1316580899.unknown

_1316581471.unknown

_1316595743.unknown

_1316581526.unknown

_1316580921.unknown

_1316580853.unknown

_1316580877.unknown

_1316580828.unknown

